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Unit 2 Study Guide ,';;.]@,#MWM :
Proportional Reasoning & Dimensional :_ Rk |
Analysis

Learning Target #1: Proportional Reasoning

1. | can write a ratio in several ways.

Ratio: A comparison of two quantities using division
*Order Matters when you write a ratio.
*There are 3 ways to write aratio (1:4, 1 to 4, ')
*Always simplify your ratio

Your Turn .
In Mrs, Dombrowski's ciass, there are 5 students who own on ipod

and 15 students who own an iphone. 15
5:5 19105, %
A. What s the ratio of iphones 1o ipods? | ) /

B. What is the ratio of iphones to total students? 15=‘2,0, 1549 20,

For the following ratio, create a second part o whole and a part 10
part. Pk hole

3 out of 10 prefer math over science class.

Part fo Whole: T out oF 10 meu seiance ovur math.
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Part 4y Part: 34 71 pre ¥ur math ovaur coA

2. | can determine equivalent ratios by Scaling up or down.

L,

Scaling up: multiplying numerator and
denominator by the same factor
Scaling down: dividing numerator and
denominator by the same factor.
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Find the missing values:

1 4ol mukhns =

2%%gmmm’:"§'owmm
t 7 total muffins
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3. | can determine equivalent ratios using a table.

Ratio tables are helpful when solving word
problems or if you are given a table with
missing values. Realize that each column in
the table represents a ratio and they are all
equivalent (hence, you can also use a
proportion to find the missing numbers).
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A. Every 2 boxes of fruit snacks will serve 11 students. How many

boxes can serve 22 and 33 sty 2!3. x3
2 4 o
1 22 .33
N 7
A2
X3




4.1 can determine equivalent ratios using proportions.

When solving proportions, you can scale up or
down OR cross muitiply.

You should LABEL everything in a proportion.
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Sometimes, it is best to create your part to part s irls !
ratio plus the two part to whole ratios before 5 ﬂ N A 30 5 q w m ‘
solving to help ensure you solve what is asked of 2 4
you (See | Can Statement #1). — o tudents
B. For every 4 seniorns, there are 9 freshmen l";’:’d’m t
total, how mony of them ore senfors? 4 ‘
4 genines A soniyS  _ |
q frhmen 3 fotal  8hint
{
= 5L ]
4497 13 4ohal 2 —
5. | can determine a unit rate. ]
A unit rate is the rate for one unit of a given A. Austin travels 455 miies'h 9 hours. How far did he go N
quantity which means they have a denominator of hour? /_\) =9
one. ;
456 mikes _
Example: Sarah reads 88 pages in 4 hours. How —_—
many does she read in an hour? q h ownys 1 h TY.e
_88pages . 22 pages
(' 4nours 1 hour \/,\ a
Unit rates are also useful for determining better B. Which is the better deal? ULN‘\' Yate)
buys (which is cheaper per unit?). A\ pottie of Diet Coke for $1.09.
- \¥" 5002 bottle of Diet Coke for $1 —720
Example: Is a 12 oz bag of chocolate chips for ;54 a s
better deal than an 18 oz bag of chocolate chips "‘ l.0d $ 0 q\ 'y \ 49 3 0. i0
for $4.892 = . ol LS PR S
$4.00 s 1244 =$0.33 per ounce ‘LO‘L \ "L b oL \ oL
v ~7 B
$5.50 5,50 +18 = 5031 ounce —BETTER DEAL! ,'_. o
T - T ~ 10
— to.qDéTo.lo
6. | can determine a Unit Rate from a Graph. (202, 20 0L
Each poinf on the graph represents a ratio that is A. Calculate the unit rate: | | Lo e w“,', YM'C =y
equivalent o another ratio (point) on the graph. \3 250 Gallons of Gas vs. R -)T
as |- __!l,\ﬁ ,160)
The unit rate on a graph is the slope of the line. 200 G QD)
1 Py
When calculating the unit rate, it is the y-value uz | . 4. Lﬁql = “,_ ‘I
over the x-value (rise over run). §:|.28 o I l_ﬁ,,\ f——‘_ 7 X 100
: 100 - {w;v00) y 4220 = e
Unit rates should always be labeled. g 75 AT 6,107 ! X Suo
o CRETORTH
0 4 ;
0 3 s 9 12 15 X
Gallons of Gas




Learning Target #2: PERCENTS

7. | can convert between Fractions, Decimals, & percents.

Fractions:

o To decimals: divide numerator &
denominator
To percents: tum to a decimal and move
decimal two place volues to the right
Decimals:

« To percents: move decimal two place
values to the right
To fractions: place over 10, 100, 1000
(depends on your place value)
Percents

+ To decimals: move decimal two place
values to the left
To fractions: place over 100 and simplify if
necessary)

A. Show two ofher forms of the following

wfm,am‘“'y‘ : p D[[IDM\ _

8. | can calculate the percent, Part, or Whole of a Number.

|

Part _ 7
whole = 100

The part is normally identified by the word “is".

The whole is normally identified by the word “of".

The whole indicates the total or original.

L *lpn = 40X

9. 1 can apply percents to real world problems.

2Ub0 = A% T2
Hh e (1200

Tax and Tip are applications that are added to
our total bill.

{ can treat the tax and tip like a “part”
and add the tax to my bill.

| can also treat them as an additional
percent (100% + 7% tax rate = 107% of the
bill), which calculates the final bill.

A. A baseball pitcher won 80% of the games he pitched. If he
pitched 35 games, how many did he win?

B0 oF 35 _X N/ %0
g x 35=|28gome 0k 35 oo

joox = 2400
L&Z;L&H%M_é?_“__"s
B. The Gap is selling shirts for 30% off the original price. The shirts &re

on sale for $22.4',0. What was the qriginql price of the shirt?
Sake price (% ‘/."‘;ﬁriﬂma\lJ o107 of on5lnat)

| we—

$22.40 T
fﬁﬂ chece: Sy r .12 84,

had

1 /180 /_/,..-———-f
2.0012 .27, __i_’_—_._ /_/______‘_,
3.9% - 9_ O‘L_...—t
4,245% - ’L_ﬂi’ 14—2‘————‘%
S5 4ol - 40 4
5
65 11.5] — 15
A Calculate the part, whole, or percent of the following statement.
[ ber? 2 90k 75% of what number?
1. 8% of 40 is what num _
PTTE A RTINS LI G Tk o
X 100
jooxqp = 16x ‘\1:0’3
por¥ pihole chedk: 120%.15 =90y
3!3is what percent of 602 4.40%ofwhotmmberis',223t
3 . 05705 M AL cheks |US
20 X foo 2 -4
U
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i Discounts are applications that

i vy ore subtrocled

« Ifl calculate using the percent

off, t

number | get out is the discount tha?le
should subtract from the original price

e Iflcalculate using the percent paylng'
the number | get out is the price | wouid
pay for the item after the discount.
(100% - 25% off = 75% paying for the item).

| can use the percent proportion to
SO
world problems. e red

ot

w {
C-Abltobonsdelatlézsoinmwod”""”"u t
who! & fhe percant dhscount? *

O4250- ¥]p.50 = 98150

original  gake price ccount
frie P di J‘ﬁ“’m% 3
porcont Sisoound = LHORRET 2 ¥ 250 | 2
D.Apoirofmcomm,wdt‘!WOJmm' nme;‘cﬂ ’ @I ‘
ob%sdesfaxawodypaﬂlorlhomwmmAWM ‘ |

change should she expect? = :
changt = |
D8990 » o = 1150 @30-33.%@ |

oviginal
P (X2 Aot "
) Total paid = ¥u+ #1502 71150

F. You go out to eat with your family and have a delicious meol ot
Mellow Mushroom. Your total bill, including o 20% tip comes 10

$51.47. What was the tipe

MH¥51.47 x .20 Z
“Toral paid ).y

G. The shirt you have been wanting for the past-3-menths-goes on
sale for 25%. When you anive to the store, you find out there is an
additional 10% off the sale price of the shirt. If the shirt is originally
$45, whafTs The final safe price of the shirt?

045 ».15 = B1.25 © Final sk pricy
Oﬁﬂ;gg ‘A]:'S(»wﬁ :)t]kuc x“"LB'k“‘g:E_,_ow"L
BaNgs x 10 =81
12}
Sff'ffw lnsmuﬁr PP

Learning Target #3: Dimensional Analysis

10. | can convert within the metric system.

A. Convert the following:

112sakm=123490%  cm Kilg> ¢enh !ng he

\,154,000
2.4s57mi=_- 00407 A willi> ety KH




Mjmy%e

* 1 liopad. 35 o deka™> bt
s :j 7.225cm’27225m sug = 0Mne 4o
| Conti ) metor (baie) grom{vase) 7 1
Sl Bl R T 1 LHbBO UM
when moving the decimal to the leff, you cumi 7 uht A/ o \ubY

dividing by a power of 10.
when moving the decimal to the right, you ore ’11 7’6?/ 24
multiplying by a power of 10. M1 5 \/\/

= 1oam
When comparing two quantities, make sure they 1 Z ?"’m 1 3 4’ h = . 3 4 h j/
are in the same unit before comparing {you might ‘ 3 ;

have to convert one of them 1o the other unit [
first). ’

11. | can convert units of measure (1 & 2 step). " Wﬂ

A. Convert 5 miles to feet.

Conversion Factor: —%—%—%—: Sk ¢ 5 1%0 ~

if you are going from Metric to Customary or vice A0X z % ub J u.-a 9 )

versa, the conversion factor will be given o you. 8. Convert 4 years info days. L 1 \5
» byeors 206 dugs [P0 dugs |

C. How many miles will a person run during a 10 idlometer roce? (1.6
kilometers in oemile)  kalo \\'\—U"\UV’)? mive

|0 Cilesackors x Ak - = 10 mike
\b Gitotms Y

Al-26 miks |
12. | can convert units of measure (Multi-Step & Word Problems).
Make sure you write every single conversion A. Convert 12 pints to gallons. ‘g\n‘\'s - q/l.ulH’S - ga“o ns

factor! :
L Pw'\'fx Q_M(ﬁ dauilon _ |72 gallent
Think about where you are starting and where you 1 ‘)}h*g 4 W& 3

want to go. Create a plan that includes the o
necessary conversion factors. = ; (5(1“0\'\& 'R . :
2 alton§
B. Sarah ran a 10 meter race. How many feet is That? (1 in = 2.

&TJS’) cctimctors 4L SBH et = cemhmeters = Inches = Fued

KHDBDCM 1000 confisnekers x Lineh™ X A Koot
Lright f 1540w [ INERESS

1! 00 - 7
limeteks = 1000 Condimerurs 1,000 £k L oookr 0 g g l
264412 .49 ‘
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[ Exampte: A bucke! hos 4.65 L of waler. How
many galions of water is that (1.06 gt = 1 L).

loza=283
C. A bowi of cereat weghs 40 o1 Nowmow!"""‘g”

1 minute 1 minude
C. The average American student is in class 330 minutes/day. How
many hours per school week is this (use 1 school week = 5 days) 2

minutes — hours
Ja-g.f—‘> school wedk

Powintes L woun | 5 dsys

Given: 465L  Needed: gallons @ 023 qrams 3 Kilegrams |

Plan: L qt galion ] hateg Lb‘y] 2 K o% ram$

Equalities: 1.06 qt = 1 L; 1 gal = 4 gt (00 gz x L03grams _ | L48 ramns

Set Up Problem: E/\NB % 2 :

4,654 & |
(g s e | utp - [1648 K"W
13.1can perform a rate conversion.

Sometzrr;es itis helpful to convert either the A. Convert 65 mph 1o feet per minute. M'ks - ‘fu’t o

numera n -

e Syt | Umk prho)  haur) minute

problem gets messy. 100 } US’ le 0 x, }b*

Example: Convert 66 feet per second to miles per (!‘; M —————-f‘“' M + ,,_J——-""“’"

hour. 1 hour hW Tpke leo minutes

66M 60.5er 60M Imile - mdey
lsec” 1Pmx lhour 5280 fect hour
B. Convert 32 feet/secondf to meters/min (1 inch = 2.54 cm).
Feet =3 inches = cennmeters —> metex S
Seconds = pinutes @ KHD%DS‘\C_,H'
2
O 132 Feet, 1L ipabes; 1.54m b0 setemdT -
lwm\ﬁ’ 1ot 1 1 minufe =
O 1 minute
Z 32215420 cm B8 62),bom —F et ;]B

14“’{ (0 minwket 1wk

- %%0%5 howrs LS50 oS

0 et = 0 ks T medle




